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Ay SNS COLLEGE OF TECHNOLOGY

(An Autonomous Institution) a
Commbatore — 641 035.

B.E/ B.Tech - Internal Assessment Exam- 11

-

Teewrsinds

Academic Year 2023-2024 (EVEN)

Fourth Semester (Regulation R2019) w

19CST202 - Database Management Systems
(Common to CSE, IT and AIML)

TIME: 1.5 HOURS MAXIMUM MARKS: 50

ANSWER ALL QUESTIONS

PART A — (5 x 2 =10 Marks)

1. Define role in SQL and Write the syntax for creating and CO2 Rem
dropping a role.

2. What is the difference between a candidate key and the primary CO2  Ana
key.

3. Compare 3NF and BCNF CO3 Ana

4. List the various types of Armstrong Axioms. CO3 Und

5. Define Functional dependencies with example. CO3 Und

PART B — (2 x 13 =26 Marks, 1x 14 = 14 Marks)
6. (a) i. Explain with example in SQL the following co2 Und 13

e Aggregate Function
e Group by and Order by
(OR)

(b) Explain about Advanced and Dynamic SQL with an example CO2  Ana 13

7. (a) Define and illustrate the INF, 2NF, 3NF and BCNF with CO3  Ana 13

your own example.
(OR)

(b) i. Consider the Relation R(ABCDEG) and Functional CO3 App 7

Dependencies F= {AB -2C, AC->B, AD-=E, B->D,
BC->A, E->G}and Decomposition D = {ABC, ACDE,
ADG}. Find it is lossy and Lossless Decomposition.

8. (a)

(b)

Prep

ii. Explain in detail about 4NF and SNF with your own CO3 Ana

example.

Consider the following relational schema and briefly answer CO2 App

the questions that follow:

Emp(eid: integer, ename: string, age: integer, salary: real)
Works(eid: integer, did: integer, pct time: integer)
Dept(did: integer, budget: real, managerid: integer)

1. Define a table constraint on Emp that will ensure that
every employee makes at least $10,000.
2. Define a table constraint on Dept that will ensure that all
managers have age > 30.
3. Define an assertion on Dept that will ensure that all
managers have age > 30. Compare this assertion with the
equivalent table constraint. Explain which is better.
4. Write SQL statements to delete all information about
employees whose salaries exceed that of the manager of one
or more departments that they work in. Be sure to ensure that
all the relevant integrity constraints are satisfied after your
updates.

(OR)
i. Convert the Relation R(A,B,C,D) and functional
Dependencies (A B, B > C) from INF to 2NF.
ii. Consider the Relation R(A,B,C,D,E) and Functional
Dependencies F= {A > BCDE, BC-> ACE, D->E}. Find out
the highest normal from given in the relation
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CO3 App

CO3 App

Note: CO — Course Outcome, Blooms Taxonomy Abbreviations:
Rem - Remembrance, Und-Understanding, App - Apply, Ana - Analyze, Eva - Evaluate, Cre -

Create
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Fourth Semester (Regulation R2019)

19CST202 = Database Management Systems
(Common to CSE, 1T and AIML)

ANSWERALL OUESTIONS

PART A — (S5x2 =10 Marks)

HENEREN

Define role in SQL and Write the syntax for creating and

dropping a role.

What is the difTerence between a candidate key and the primary

key.
Compare 3NF and BCNF
List the various types of Armstrong Axioms.

Define Functional dependencies with example.

PART B— (2 x 13 =26 Marks, I1x 14 = 14 Marks)

6. (a) i. Explain with example in SQL the following

e Aggregate Function
¢ Group by and Order by
(OR)

(b) Explain about Advanced and Dynamic SQL with an example

7. (a) Define and illustrate the INF, 2NF, 3NF and BCNF with

your own example.
(OR)

(b) i. Consider the Relation R(ABCDEG) and Functional

Dependencies F= {AB ->C, AC->B, AD-E, B-=D,
BC>A, E->G}and Decomposition D = {ABC, ACDE,
ADG}. Find it is lossy and Lossless Decomposition.
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8. (a) Consider the following relational schema and briefly answer €O 2

(b)

i, Ixplain in detail about ANF and 5NF with your own CO3  Ana 6

exnmple,

the questions that follow:

Emp(eid: integer, ename: string, age: integer, salary: real)
Works(cid: integer, did: integer, pet time: integer)
Dept(did: integer, budget: real, managerid: integer)

I. Define a table constraint on Emp that will ensurc that
every employee makes at least $10,000,
2. Define a table constraint on Dept that will ensure that all
managers have age = 30.
3. Define an assertion on Dept that will ensure that all
managers have age > 30. Compare this assertion with the
cquivalent table constraint. Explain which is better,
4, Write SQL statements to delete all information about
employees whose salarics exceed that of the manager of onc
or morc departments that they work in. Be sure to ensure that
all the relevant integrity constraints are satisfied after your
updates.

(OR)
i. Convert the Relation R(A,B,C,D) and functional
Dependencics (A= B, B = C) from INF to 2NF.
ii. Consider the Relation R(A,B,C,D,E) and Functional
Dependencies F= {A »BCDE, BC> ACE, D> E}. Find out
the highest normal from given in the relation
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App 14
cO3 App 7
CcO3 App 7

Note: CO = Course Qutcome, Blooms Taxonomy Abbreviations:
Rem - Remembrance, Und-Understanding, App - Apply, Ana - Analyze, Eva - Evaluate, Cre -

Create



